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O 16 ) Surface area and Volume
< Practice Set 16.1 }
1.

Find the volume of a box if its length, breadth and height are 20 cm, 10.5 cm and
8 cm respectively.
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2. A cuboid shape soap bar has volume 150 cc. Find its thickness if its length is
10 cm and breadth is 5 cm.
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3. How many bricks of length 25 cm, breadth 15 cm and height 10 cm are required
to build a wall of length 6 m, height 2.5 m and breadth 0.5 m?
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4. For rain water harvesting a tank of length 10 m, breadth 6 m and depth 3m is

built. What is the capacity of the tank ? How many litre of water can it hold?
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